Exercise 1: Choose the correct word (chon tir dting nhit vao chd tréng)

1.

2.

9.

he wearing a hat ?
He’s a sweater.
Is Lisa a coat?
My sister boots.
Yes, he
My brother wearing a coat.
Is he wearing boots? No, he

(Am-1Is - Are)

( wear - wearing - wears)

( wear - wearing - wears)
(wearing - is wearing - wear)
(is - isn’t - is not )

(isn"t - am not - are )

(is - isn’t - doesn’t)

Is she wearing a dress? Yes, she

(doesn’t - isn’t - is )

He's wearing sweater. (an-a- the)

10.She’s wearing

(pants - pant - a pant )

Exercise 2: Match (ndi cau A véi cau B sao cho phit hop)

A

B

b.

C.

d.

Are you wearing a T - shirt?
Is he wearing a hat?

Is she wearing a coat?

Are they wearing boots?

&

4,

No, she isn’t.
Yes, they are.
Yes, he is.

No, I'm not.

Exercise 3: Fill in the gaps (dién tir con thiéu vao chd trong)

1.

2

3.

What she wearing? She is wearing a red dress.

he wearing yellow shorts? Yes, he is.

[s she wearing a blue skirt?

she isn’t.



4, is he wearing? He is wearing grey pants.

5. Are they wearing green shoes? Yes, they

6. you wearing a hat? Yes, | am.
7. Is wearing a blue T- shirt? Yes, she is.
8. Is she wearing a pink shirt? Yes, is.

9. Are Lily and Anna wearing grey pants? Yes, they

10. What is your brother ? He is wearing black socks.



